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SA - ZE . BR(8) - HRAR - BES of v e HIDE2
clat 15,876,694 17,431,200 1,564,506
= 1,882,000
Jl 9,973,828
= 200,000
Ea 3,820,866
MRet=2te 9,070,094 8,768,200 301,894
= 1,882,000
) 3,167,228
= 200,000
= 3,820,866
T 22 (+BMEAY SE3IH) 566,728 569,734 ~13,006
Jl 546,728
Ea 10,000
FHIAFXA(013) 429,644 419,784 9,860
) 429,644
307 lztol & 59,644 49,784 9,860
Il 59,644
02 QB AANEE R 59,644 49,784 9,860
0487 FoIT|AAI
59,644,000 * 14| 59,644
Jl 50,644
402 212+ X201 & 370,000 370,000 0
Il 370,000
02 QI X2 AL 2 (0IE K 370,000 370,000 0
O+ FUXEA
370,000,000 x 14 370,000
Jl 370,000
SHPA0IX 2 (XEH) 10,000 4,610 5,390
201 Ler23| 10,000 4,610 5,390
2 s5=34l 10,000 4,610 5,390
0487 SERAAIL
10,000,000 * 14 10,000
FHTA FOIX BB 55,084 37,500 17,584
Jl 55,084
101 @124H| 33,341 32,000 1,341
Il 33,341
M ORNZZ2NSE S 33,341 32,000 1,341
O=QRIAL D/B 7=
33,341,000 * 14| 33,341
Il 33,341
201 2= 14,743 3,500 11,243
7l 14,743
01 AtR2t2|HI 14,743 3,500 11,243




FA 22l
3 JiRst= 2
CHOl: AP PR (SRINAAIY S5 (el mel)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
ORFID SE=S AcIAAE 2=
14,743,000 * 14 14,743
Jl 14,743
202 04l 7,000 2,000 5,000
Il 7,000
01 2K 7,000 2,000 5,000
OZX A ZERAE B
7,000,000 * 14 7,000
Jl 7,000
A=A 22(013) 62,000 107,840 A\45,840
Il 62,000
101 @124H| 60,000 99,840 39,840
Jl 60,000
M ORNZZ2NSE S 60,000 99,840 39,840
OUESRY ot Il =71 22
60,000,000 * 14 60,000
Il 60,000
201 2= 2,000 8,000 26,000
Jl 2,000
01 AtR2t2|HI 2,000 8,000 26,000
o227 X2 2,000,000 12 2,000
Jl 2,000
SENEA (SEINEALY SE3IH) 8,513,366 8,198,466 314,900
= 1,882,000
7l 2,620,500
= 200,000
o 3,810,866
EaXMelAld 2g2el(013) 900,000 700,000 200,000
Il 579,000
o 321,000
307 212+01& 900,000 700,000 200,000
7l 579,000
= 321,000
05 2IMRIE =3 900,000 700,000 200,000
Oz =HeAE &3
900,000,000 x 14 900,000
Jl 579,000
Ea 321,000
EaXelAld 22l (X)) 396,000 350,200 45,800
201 fet=3| 216,000 180,200 35,800
02 s3=gHl 216,000 180,000 36,000
O2=0EER)XEANE JIIes
18,000,000& «12& 216,000
401 AlZHIZ S0 180,000 170,000 10,000




SN 22D
3 JiRst= 2
SH9l: AEINAA (SEILAIY SB3IH) CEERE)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
01 Al&HI 180,000 170,000 10,000
OSYZIE OISEI | 25 &3
20,000,000& x 14 20,000
O sSx WR=stsZ &1
20,000,000 *14! 20,000
OO0 =0l EX & BZLAM 2HE
20,000,000 *14{ 20,000
OXcIAE 0158 BEF WA
20,000,000& * 14 20,000
OLHEe| BAIR WA
100,000,000 * 14! 100,000
IIEEEIESHeAE2E22(013) 3,067,866 3,067,866 0
7l 528,000
T 2,539,866
307 elztol & 3,067,866 3,067,866 0
Il 528,000
= 2,539,866
05 21t =3 3,067,866 3,067,866 0
OIEESSHelAE 2SS
3,067,866,000& * 14 3,067,866
) 528,000
o 2,539,866
IIEELIESHeAE2S 22l (KA) 389,000 500,400 A111,400
201 =3 389,000 350,400 38,600
01 At22t2lt] 23,000 0 23,000
O2IME 8 222
20,000,000& * 14| 20,000
OSARIE &AL =&
3,000,000& %14 3,000
02 S3=gHl 366,000 350,400 15,600
OIIE2L3SH2AE HIIes
28,500,000 ~12& 342,000
ON=E23SHAE Yot =
2,000,000& ~12& 24,000
FHATH|0IHEIHNOIS) 71,500 80,000 28,500
) 71,500
207 ARl 71,500 80,000 A8,500
Jl 71,500
01 S| 71,500 80,000 A8,500
OF=2F S| 0lgEI EF
40,000,000& *14] 40,000
Jl 40,000
OHiEAZAIE Z2LIHE
31,500,000 * 14! 31,500
Il 31,500
SHE HIEQENZAIE €X(=1) 224,000 1,000,000 AT776,000




FA 22l
3 JiRst= 2
ol SRIPMAR (SEIHLAIS SBEI) (o) &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
= 119,000
s 105,000
403 X HMSAH=01H 224,000 1,000,000 AT76,000
= 119,000
= 105,000
02 SIS0t =2 2 P E A I 224,000 1,000,000 AT76,000
O HIEEMZAIE &X
224,000,000 x 14 224,000
= 119,000
s 105,000
JIAFE MEHGHE ZAAM(ZH) (HEALY) 400,000 0 400,000
7l 140,000
= 200,000
o 60,000
403 AXIEHHSAH=01d 400,000 0 400,000
Il 140,000
= 200,000
Ea 60,000
02 SISOt =2 A P E A I 400,000 0 400,000
OJ A MENGHE EHIALY
400,000,000 *14] 400,000
Il 140,000
= 200,000
o 60,000
JIMNE IBEX HIEEMZAIE EX(=1) 2,808,000 2,000,000 808,000
= 1,506,000
Jl 1,302,000
403 AXIEHHSA=201E 2,808,000 2,000,000 808,000
= 1,506,000
) 1,302,000
02 SIS0t =S A A 2,808,000 2,000,000 808,000
OJINA EEK TH AL
2,808,000,000& 14 2,808,000
= 1,506,000
Jl 1,302,000
ot=cl SX HIEEM2ZAIE EXI( ) 257,000 500,000 243,000
= 257,000
403 X SHMSA=01H 257,000 500,000 243,000
= 257,000
02 SO 2SOt stA=2E 2 €A H] 257,000 500,000 243,000
Oot=el F&sK ZgAY
257,000,000& x14] 257,000
= 257,000
HeRas(sreszet) 6,806,600 8,663,000 1,856,400




A8

B eEs (e
ol LIS XIS (SEONMAIY S5 (12l M2
SA - B GR(31) - HIRAY - BES il &k e HlmS2
| 6,806,600
LHEHAKIE(FEMEAE SEIH) 6,806,600 8,663,000 21,856,400
| 6,806,600
WEHHXIE(=EA) 6,806,600 8,663,000 21,856,400
| 6,806,600
701 JIEt2 HISEES 6,806,600 8,663,000 A 1,856,400
| 6,806,600
02 BIILEEIIAHBLEES 3,778,600 3,487,000 291,600
OS2 HEH| BILYUE (=) 769,000
| 769,000
O346tHelAE2Y(+S) 1,964,400
| 1,964,400
OFRol=HelANE2Y(+S) 560,200
| 560,200
OS3ot+HANERYG (+5) 485,000
| 485,000
03 SIILELESAHRN2NZ=Z 3,028,000 5,176,000 22,148,000
Ool=2t2 FHIAIE(=21) 1,301,000
| 1,301,000
OsHEDISH=SHHIAME (=1) 1,584,000
| 1,584,000
OHHLol=He | ZERAI (21) 143,000
| 143,000




